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SECOND YEAR HIGHER SECONDARY
SAY /IMPROVEMENT EXAMINATION, JUNE - 2023

Part — 111 Time : 2% Hours
ACCOUNTANCY WITH Cool-off time : 15 Minutes

ANALYSIS OF FINANCIAL STATEMENTS
Maximum : 80 Scores
(Hearing Impaired)

General Instructions to Candidates :
e Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
¢ Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A (40)
ACCOUNTING
I.  Answer any 4 questions from 1 to 5, each carries 1 score. 4x1=4)
1.  Inthe absence of a partnership deed, partners are eligible to get :
(a) Salary (b) Commission

(c) Interest on loan (d) Interest on capital

2. The amount of goodwill brought in by the new partner is shared among the old partners

in:
(a) New Profit Sharing Ratio (b) Always Equally
(c) Old Profit Sharing Ratio (d) Sacrificing Ratio

3. A, B & C are partners in the ratio of 3 : 2 : 1. ‘C’ decided to retire from the firm. In the

absence of any agreement, the new profit sharing ratio of B & C will be :
(@) 3:2 (b) 2:1

() 3:1 (d 1:1

4. Realisation expenses incurred and paid by the firm is :
(a) Debited to Realisation Account (b) Credited to Realisation Account

(c) Debited to Cash Account (d) Credited to Expenses Account

5. On dissolution of a firm, which among the following should be firstly paid using the

money realised from the sale of assets ?
(a) Partners Capital (b) Partners Loan

(¢) Outside Liabilities (d) Any of these
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PART - A (40)
ACCOUNTING
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I1.

II1.

10.

Iv.

I1.

12.

Answer all questions from 6 to 7, each carries 2 scores. 2x2=4)

List out any four items credited to a partner’s Capital Account.

A, B & C are equal partners in a firm. ‘A’ retires from the firm. The Balance Sheet of

the firm shows General Reserve of ¥ 12,000. Give the journal entry for its adjustment.

Answer any 2 questions from 8 to 10, each carries 3 scores. 2x3=06)

List out any three contents usually included in the partnership deed.

The profits earned by a partnership firm for the last four years were ¥ 20,000, ¥ 30,000,
T 50,000 and ¥ 60,000. Calculate the value of goodwill as three years purchase of the

average profits.

Pass journal entries for the following transactions on the dissolution of a firm :
(Hint : Assets and liabilities were already transferred to the Realisation Account)
(a) Realisation expenses of ¥ 5,000 paid through the firm.

(b) Unrecorded Machinery sold out for T 8,000.

(¢) Stock of goods worth ¥ 6,000 taken over by Manoj, one of the partners to the

firm.

Answer all questions from 11 to 12, each carries 4 scores. 2x4=38)

Write the two rights enjoyed by a new partner admitted in a partnership firm.

X, Y and Z share profits in the ratio of 4 : 3 : 1. On the death of ‘X, his share of profit
is taken by Y and Z equally. Calculate the new profit sharing ratio, after the death of
‘X,
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V. Answer all questions from 13 to 14, each carries S scores. 2x5=10)

13.  Prepare the Profit and Loss Appropriation Account from the following details :

(2)
(b)
(©
(d)
(e)

Opening balance of Capital Accounts : Amal — % 20,000, Binoy — ¥ 10,000
Interest on capital — 8% p.a.

Salary to Amal ¥ 1,000 per month.

Commission to Binoy < 5,000 p.a.

The current year’s net profit is T 30,000.

(Assume that Amal and Binoy are equal partners.)

14. List out any five adjustments to be made in the books of accounts of a partnership firm,

at the time of retirement of a partner.

VI. Answer any one question from 15 to 16, carries 8 scores. (1x8=38)

15.  Explain any ‘4’ ways of dissolution of a partnership firm.

16. A and B are partners in a firm. They share profits in the ratio of 3 : 2. Their Balance

Sheet as on 31-03-2022 was as follows :

Balance Sheet as on 31-03-2022

Liabilities 3 Assets 3

Creditors 40,000 | Cash 5,000
Bills Payable 20,000 | Debtors 50,000
General Reserve 20,000 | Stock 20,000
Capitals : Machinery 25,000
A — 80,000 Buildings 1,00,000

B — 40,000 1,20,000
2,00,000 2,00,000
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VIL

17.

18.

On the date of Balance Sheet, they admitted ‘C’ into the firm for 1/4 share in the future

profits, on the following terms :

(a) Building is revalued at ¥ 1,10,000.

(b) °C’ brings in capital I 50,000 and goodwill ¥ 25,000.

Prepare the Revaluation Account and Capital Accounts after admission of ‘C’.

PART-B (40)

ANALYSIS OF FINANCIAL STATEMENTS

Answer any 4 questions from 17 to 21, each carries 1 score. 4x1=4)

A Company issued 1,00,000 equity shares to the public and applications were received

for 1,50,000 shares. This situation is called :

(a) Over subscription

(b) Under subscription

(¢c) Issue at premium

(d) Issue at discount

Complete the series :

(a) Shares —— Dividend

(b) Debentures —> ... ? ...

S-2272 8
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PART - B (40)
ANALYSIS OF FINANCIAL STATEMENTS
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19. The statement showing financial position of a company is :
(a) Trial Balance
(b) Balance Sheet
(¢) Profitand Loss Account

(d) Cash flow Statement

20. Debt-Equity Ratio is an example of :
(a) Liquidity Ratio
(b) Solvency Ratio
(c) Profitability Ratio

(d) Turnover Ratio

21. Inflow of cash will take place due to :
(a) Issue of shares
(b) Decrease in capital
(¢) Increase in assets

(d) Payment of tax

VIIIL. Answer all questions from 22 to 23, each carries 2 scores.

22. Name any four types of debentures issued by companies.

23. Name any four profitability ratios used for evaluating the business results.

S-2272 10
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24.

25.

26.

27.

28.

XI.

29.

30.

Answer any 2 questions from 24 to 26, each carries 3 scores. (2x3=0)

State any ‘3 purposes for which a company can use the ‘Securities Premium Account’.

A Company issued 10,000; 10% debentures of ¥ 100 each at par. Applications were
received for all these debentures. Pass journal entries for the issue of these debentures

by assuming that the full amount is collected along with application.

State any ‘3’ objectives of preparing the Cash Flow Statement.

Answer all questions from 27 to 28, each carries 4 scores. (2x4=8)

Global Ltd. purchased a machinery on credit from Konica Ltd. for ¥ 5,00,000. It was
decided to pay by issue of equity shares of ¥ 100 each. Pass journal entries, if the shares

are issued at par.

How shareholders’ funds are sub-classified in the Balance Sheet of a company ?

Answer all questions from 29 to 30, each carries S scores. 2x5=10)

Explain any five most commonly used techniques of financial analysis.

A company has the net income of ¥ 2,50,000 for the year ended 31-3-2022.
Depreciation for the year was T 1,00,000. There was a gain of I 25,000 on sale of old

assets, which is credited to the Profit and Loss Account.

Bill receivables increased during the year ¥ 20,000 and Bills payables increased

by ¥ 30,000.

Calculate the cash flow from operating activities.

S-2272 12
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XII. Answer any one question from 31 to 32, carries 8 scores. (1x8=8)

31. What is ‘Share Capital Account’ ? Explain the different categories of share capital of a

company.

32. Calculate the following Accounting Ratios from the given details :

4
Current Assets 35,000
Current Liabilities 17,500
Stock of goods 15,000
Operating expenses 20,000
Sales 60,000
Cost of goods sold 30,000

(a) Current Ratio
(b) Liquid Ratio
(¢) Operating Ratio

(d) Gross Profit Ratio

S-2272 14
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OALIGITY 60,000
aflg alose@a3ies aflel 30,000
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